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Aufgabe 6.1: 
 
Auflagerreaktionen: 

kNAV 82,19=

kNAH 5=

kNBV 81,15=
           

 
Normalkraft [kN]: 

5−
10−

 
 

Querkraft [kN]: 

82,19

18,5−

10

5−

mxbeiQ 98,10 ==

 
 

Biegemoment [kNm]: 

10−

                         

64,19max =FeldM

3,18

5−

10

10

.quad linear
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Aufgabe 6.2: 
 
Auflagerreaktionen: 

                 
kNAV 25,7=

kNAH 8=

kNBV 75,23

kNmM A 5,14=

=  
 
 
 
 
Normalkraft [kN]: 

8−

 
 
 
 
 
Querkraft [kN]: 

25,7
25,1

75,8−

15−

mxbeiQ 125,40 ==

 
 
 
 
 
Biegemoment [kNm]: 

5,14−

5,2

25,1−

10 1058,2max FeldM =
.quadlinear .const
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Aufgabe 6.3: 
 
Auflagerreaktionen: 
 

 
kNBV 5,22=

kNBH 5,12=

kNAH 5,2=

kNAV 5,12=

                    
 
 
 
Normalkraft [kN]: 

5,2

5,22−

 
 
 
Querkraft [kN]: 

5,12−

5,2−

5,12−

5,12 10
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Biegemoment [kNm]: 
30−

30−

25−
63,15

5

linear

.quad linear
 

 
 
 


